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BBE/D-21

BUSINESS ACCOUNTING

24002

Paper–BBA-102

Time Allowed : 3 Hours] [Maximum Marks : 80

Attempt questions in all. Question No. is compulsory. All

questions carry equal marks.

1. (i) Define Accounting. 2

2. (a) Which parties are interested in accounting information and why? 8

Note : five 1

Compulsory Question

dqy iz'uksa ds mÙkj nhft,A iz'u la[;k vfuok;Z gSA lHkh iz'uksa ds

vad leku gSaA

ys[kkadu dk ifjHkkf"kr dhft,A

#f<+oknh dh ifjikVh D;k gSa\

nksgjk ys[kk iz.kkyh ds nks nks"k fyf[k,A

ijh{kk lwph D;ksa cukbZ tkrh gS\

mpUrh [kkrk D;k gksrk gS\

vnÙk O;; fdls dgrs gSa\ vnÙk O;; ds fy, D;k tuZy izfof"V dh tk,xhA

ys[kkadu lwpuk esa dkSu&dkSu ls i{kdkj :fp j[krs gSa vkSj D;ksa\

ys[kkadu vo/kj.kkvksa ls D;k vk'k; gS\ fdUgha pkj egÙoiw.kZ ys[kkadu

vo/kj.kkvksa dks le>kb,A

ik¡p û

(vfuok;Z iz'u)

(ii) What is convention of conservatism. 3

(iii) Give two disadvantages of Double Entry System. 2

(iv) Why is Trial Balance prepared? 3

(v) What is Suspense Account? 3

(vi) What are Outstanding Expenses? What journal entry will be passed

for outstanding expenses? 3

(b) What is meant by Accounting concepts? Explain any four important

accounting concepts. 8



3. Explain the meaning of capital expenditure and revenue expenditure.

What is the difference between them? 16

4. Enter the following transaction in the journal of Ram :

2021

April, 1 Started business with 5,00,000; paid into bank 5,00,000.

April, 10 Sold goods to Arun for 8,00,000. Arun pays one-fourth

amount in cash.

April, 15 Gave as charity - Cash 2,000 and goods 8,000.

April, 28 Withdraw from bank 50,000.

April, 29 Salaries unpaid 5,000, purchase postage 100.

April, 30 Purchase machinery for cash 1,50,000 and paid 2,000 for

its installation.

5. What do you mean by rectifying entries? How would you rectify one

sided and two sided errors? Explain with suitable examples. 16

iw¡thxr O;; ,oa vk;xr O;; dks le>kb,A buesa D;k vUrj gS\

fuEufyf[kr ysu&nsuksa dks jke ds jktukeps esa fyf[k,%

2021

vizSy] 1 5]00]000 yxkdj O;kikj izkjEHk fd;k vkSj cSad esa 5]00]000 dk

Hkqxrku fd;kA

vizSy] 10 v#.k dks 8]00]000 dk eky cspk vkSj v#.k us 'kf'k udn esa

nhA

vizSy] 15 /ek±ns esa fn, & udn 2]000 vkSj eky 8]000-

vizSy] 28 cSad ls 50]000 vkgfjr fd,A

vizSy] 29 vnÙk osru 5]000] 100 dh Mkd [kjhnhA

vizSy] 30 1]50]000 dh e'khujh udn [kjhnhA vkSj 2]000 bldk LFkkiuk

'kqYd Hkqxrku fd;kA

¼
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6. From the following balances, taken from the books of Sh. Krishan Das as

at 31st March, 2021. Prepare a Trial Balance in proper form : 16

Name of Accounts Name of Accounts

Cash in Hand 4,500 Machinery 24,000

7. Prepare Trading, Profit & Loss A/c and Balance Sheet from the following

particulars as at 31st March, 2021 :

vki la'kks/u izfof"V;ksa ls vki D;k le>rs gS\ vki ,d i{kh; rFkk f}i{kh; =kqfV;ksa

dk fdl izdkj lq/kj djsaxs\ mi;qDr mnkgj.kksa }kjk O;k[;k dhft,A

Jh d`".k nkl dh iqLrdksa ls 31 ekpZ] 2021 dks fy, x, fuEufyf[kr 'ks"kksa ls lgh

rFkk mi;qDr #i esa ryiV cukb,%

(udn 'ks"k) (e'khu)

(cSad vf/fod"kZ) (Hkwfe o Hkou)

(nsunkj)

(izkjfEHkd jgfr;k) (ysunkj)

(Ø;) (izkI; fcy)

(foØ;) (ns; foi=k)

(iwath)

(Ø; okilh) (vkgj.k)

(foØ; okilh) (fdjk;k)

(osru)

(;k=kk O;;) (Í.k)

(NwV nh)

(Í.k ij C;kt)

(NwV izkIr dh)

fuEufyf[kr enksa ls 31 ekpZ] 2021 dks lekIr gksus o"kZ dk O;kikfjd rFkk ykHk gkfu

[kkrk vkSj mlh fnu dk fpV~Vk rS;kj dhft, %

Bank Overdraft 8,000 Land & Building 50,000

Opening stock 20,000 Debits 18,400

Creditors 8,500

Purchase 80,000 Bill receivable 2,850

Sale 1,30,000 Bills payable 1,650

Purchase returns 2,000 Capital 60,000

Drawing 6,000

Sales returns 5,000 Rent 3,700

Travelling expenses 1,800 Salaries 3,600

Loan (Cr.) 10,000

Discount allowed 600 Interest on Loan 1,200

Discount received 1,500
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(gLrxr jksdM+)

(jksdM+ cSad esa)

(Ø; vksj foØ;)

(vkarfjd okilh)

(ckâ; okilh)

(Ø; ij xkM+h HkkM+k)

(foØ; ij xkM+h HkkM+k)

(b±/u vksj 'kfDr)

(jgfr;k)

(Mwcr Í.k)

(Mwcr Í.k vk;kstu)

(nsunku vkSj ysunkj)

(iw¡th)

(fofu;ksx)

(fofu;ksxksa ij C;kt)

(jke ls 18» okf"kZd ij Í.k)

(ejEer)

(lkekU; [kpsZ)

(Hkwfe ,oa Hkou)

(etnwjh ,oa osru)

(fofo/ izkfIr;k¡)

(ns; foi=k)

(LVs'kujh)

Particulars Dr. Cr.

Cash in hand 2,000

Cash at Bank 18,000

Purchases & Sales 2,20,000 3,50,000

Return inward 6,000

Return outward 7,500

Carriage on purchase 4,400

Carriage on sales 2,100

Fuel and power 15,500

Stock (1.4.2020) 36,000

Bad Debts 6,200

Bad Debts provision 2,500

Debtor and creditors 82,000 30,000

Capital 2,17,000

Investment 20,000

Interest on investment 2,000

Loan from Ram @ 18 p.a. 10,000

Repairs 1,520

General Expenses 10,600

Land and Building 1,80,000

Wages and Salaries 18,000

Miscellaneous Receipt 120

Bills Payable 5,200

Stationery 20,00

6,24,320 6,24,320
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Adjustment

(i) Write if 2,000 as bad debts and provision for doubled debts is to

be maintained at 5% on debtors.

(ii) Loan from Ram was taken on 1st August, 2020. No interest has

been paid so far.

(iii) Included in general expenses is insurance premium 1,200 paid for

one year ending 30 June, 2021.

(iv) 1/3 of wages and salaries to be charged to trading A/c. and the

balance to P&L A/c.

(v) Entire stationery was used by the Proprietor for own purpose.

(vi) Closing stock was valued at 50,000.

(a) Accounting Software – Tally. 8

(b) Distinguish between Journal and Ledger. What are the rules of

posting in the ledger? 8

(lek;kstu)

2]000 vizkIr Í.k ds fyf[k, rFkk nsunkjksa ij 5» lafnX/ Í.kksa ds fy,

izko/ku djuk gSA

jke ls 1 vxLr] 2020 dks Í.k fy;k FkkA vHkh rd dksbZ C;kt ugha fn;k x;kA

30 twu] 2021 dks lekIr gksus okys o"kZ ds fy, fn;k x;k ,d c"kZ dk

1]200 chek izhfe;e lkekU; O;; esa lfEefyr gSA

etnwjh rFkk osru dk 1@3 Hkkx O;kikfjd [kkrs esa rFkk 'ks"k ykHk&gkfu [kkrs esa

ys tkuk gSA

LVs'kujh iw.kZ :i ls Lokeh }kjk futh dk;ks± ds fy, iz;ksx dh xbZA

vfUre jgfr;k 50]000 ewY; dk FkkA

fuEu dh O;k[;k dhft, %

ys[kkadu lkWÝVos;j & VSyhA

jkstukePkk rFkk [kkrkcgh esa vUrj dhft,A [kkrk cgh esa [krkSuh djus ds D;k

fu;e gSa\

8. Explain the following :

24002/K/946 5


